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ENGLISH EXAM — & teaa 8 1-37- 2-37 /1-38

e ,you are using the internet

A. When you are offline
B. When you are online
C. When you use an eyeliner
D. When you are alone

- Choose the sentence that contains a singular subject

A. Sally and Nadia are organizing a party

B. The children will arrive at 3:00 O’clock

C. Sally will travel tomorrow

D. Nadia and Sally will come to the meeting

- Choose the sentence that contains a plural subject

A. She will study abroad

B. Nadia and her sister work in library
C. The teachers will meet us at 1.30 pm.
D. Nadia speaks three different languages

- Choose the sentence that contains a compound subject

A. Water boils at 100 Degree

B. My keyboard stopped responding

C. The pupils _and their_instructor will join the trip
D. Ali passed his exam

- Write the words in the correct order: ( knows the everyone internet about)

A. The everyone knows the about

B. Internet knows the everyone about
C. Everyone knows about the internet
D. About knows the everyone internet

-He ...... a teacher
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- Choose the sentence that contains a contraction with BE

A. They are my friends

B. They’re good people
C. They are good people
D. These are Sally’s books

- Choose the sentence that contains a prepositional phrase

A. She reads stories from the internet
B. She wrote three letters yesterday

C. We have seen Sally watching the TV
D. The students wrote their homework

- The train will arrive the station...... 7:30 Am.

0w >
L 5

D. under

- Choose the correct reading for the number (23,570,600) e R e B

A. Twenty-four million five hundred seventy thousand eight hundred
B. Twenty-three thousand five hundred seventy million six hundred
C. Twenty-three million five hundred seventy thousand six hundred
D. Twenty-three hundred five thousand seventy million six hundred

- The opposite of “beautiful”is......

A. ideology
B. guilty
C. ugly

D. eulogy

- Choose the correct short answer for “Is your sister at home “

A. Yes, she is not
B. No, she is
C. Yes, she is
D. Yes, we are

allal) gail
2 ¢

&

14
.



ENGLISH EXAM — & teaa 8

1-37- 2-37 /1-38

- The children are next; it is...... turn

A.

his

B. their

C.
D.

-He...... tea at breakfast every morning

A.
B.
C. drinks

D.

- Sally and her sisters...... many books

A.
B.
C.

D. have

her
your

..... sunglasses belong to me

This
That

These

..... this ? This is my new notebook

Who is

. What is

What are

. Where are

drink
drunk

drank

his
is
am

- Sally gets ..... letters

A.

much

B. many

C.
D.

a little
one
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- Choose the correct sentence

A. Cats are an _animals
B. Cat are an animal
C. Cats an animals

D. Cats is an animals

- Choose the sentence that contains an object of a preposition

Sally studies English every day
Dalia is an engineer

Ahmad works in a factory
Dogs are animals

o ® >

-l English very well

does not speak
do not speak
speaks not

no speak

0w >

- My sister...... to the cinema very often

A. do not go
B. goes not

C. does not go
D. go

-David...... arinbow cake at this moment

A. eat
B. eats

C. is eating
D. ate

- Ahmad is so busy right now; he...... his homework

A. does
B. did
C. is done

D. is doing

4
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“lo..... pizza very much

A. likes
B. like
C. liking
D.is like

- Choose the sentence that contains a prepositional phrase

A. She reads stories from the internet
B. She wrote three letters yesterday

C. We have seen Sally watching the TV
D. The students wrote their homework

- The opposite of the word “question” is. ...

A. swear
B. answer
C. asker
D. usher

- Choose the correct short answer for “Is your father an engineer ?”

A. Yes, he is not
B. Yes, he is
C. No, heis
D. Yes, they are

-You and Sally are next. It is..... turn

A. my
B. your
C. our
D. their

-....books belong to the library

A. That is
B. Those
C. This

D. A
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- Sally usually . ... fish every weekend

A. ate
B. eats
C. eat
D. eaten

- Nader and his brothers. ... many books

A. have
B. be
C. has
D. is

-l1do not drink .... coffee

many

._much
a few
an

o0 >

- Choose the correct short sentence

A. This men is an engineer
B. This man are engineer
C. This man is engineer

D. This man is an engineer

- Choose the sentence that contains object of a preposition

A. She prefers reading books

B. They drink their coffee

C. They stopped at the station

D. They wanted to share their ideas

- Dalia loves Ahmad; she loves....very much

A. he
B. she
C. him
D. our

6
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- The banks....on Saturdays

A. does not open
B. do not open
C. opens

D. opens not

- Your brother.... tennis very well

A. plaies
B. play
C. plays
D. is play

-....you waiting for abus? We can go together if you want

A. ls

B. Do
C. Are
D. Did

- Be quiet! My grandmother....

A. am sleeping
B. are sleeping

C. is sleeping
D. sleep

- Don’t disturb her. She.... sleeping

A. have
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Read the following passage and answer the questions that follow : ALl (g Ay 55 [ 0410d

Some people say “Everybody is going to shop online , from home. There will not be they more real
shopping malls. “Other people have a different picture of the future; they “there will still be shopping
malls ,people will work at home alone, on their computers. They will want to go out to stores for
shopping. They will want to social happing in stores will be easy. People will not need to carry many bags
from store; they will only choose products. The stores will deliver most of their purchas to their houses
and people won’t need to carry money or credit cards with them. An eye scan will identify their eyes. They
won’t only have big department stores and many small stores. Malls will still be places for shopping and
entertainment. But in mall of the future, busy people will also go to the doctor, the dentist, and the post
office. They will go to gym, too. Everybody agrees about one thing; shopping will be different in the store.

- The expression “different picture of the future” in the above text means....

A. Different photos for the features

B. Different perspective of future

C. Different future for the camera

D. Similar opinion about something or someone

- “Socialize” in the above passage means. ... | ©bbs iy .

A. to spend time with dogs or with other animals in order to enjoy
B. to spend time with friends or with other people in order to enjoy
C. to waste time with friends or with other people in order to enjoy
D. to work hard with friends or other people in order to pass

- “ Department store” in the above passage means.....

A. asmall shop divided into several different parts
B. alarge shop that sells the same product

C. alarge shop divided into several different parts
D. alarge sheep that you raise in your own way

u

- The contracted form “won’t” in the above passage means....

A. cannot
B. is not
C. want

D. will not
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- “Identify ” in the above passage means....

A. to organize something and prove what that thing is....

B. to forget someone and never remember who he she is

C. to recognizer someone and say or prove who that person is
D. to socializer with other people

- “Deliver” in the above passage means......

A. to take advantage of someone’s weakness and hesitation

B. to take goods, letters, etc, to people’s houses or places of work
C. to fake goods, letters, etc, and give to people’s wive

D. to take goods, letters etc. and sell them again in an academy

-“Alone” in the above passage means....

A. without other pupils
B. with one person only
C. without other people
D. with other people

- “ Entertainment” in the above text means....

A. something affording pleasure or amusement
B. something the causes boredom and monotony
C. something affording leather or piecement

D. something affording drowsiness and money

- Aperson whose job is treating people’s teeth is a....

psychologist

speech therapist

socialist
._dentist

onw® >

- Alarge room with equipment for exercising the body is....

A. aclassroom
B. a post office
C. avideo game

D. a gym
9 Al Al o
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- The place where stamps are sold and from where letters are......

A. The past office
B. The boost office
C. The post office
D. The posset office

- “purchase” as averb means....

A. To buy
B. To try

C. To pay
D. To pray

-To have the same opining opinion means to.....

A. an agree
B. guarantee

C. agree
D. goatee

-The NOUN from the verb carry is....

A. carrot

B. cartone
C. current
D. carrier

-The VERB from the noun “computer” is....

A. computers
B. computer
C. comuterize
D. comprise

- The NOUN from the verb “deliver” is....

A. dentistry

B. delivery
C. devil

D. dairy
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-The NOUN from the verb “choose” is....
A. choice

B. case

C. chose

D. choline

-The NOUN from the verb “identify” is....

A. ideology

B. identification
C. idiosyncrasy
D. ideal

- The NOUN from the verb “entertain” is....

A. entailment

B. installment

C. entertainment
D. enterapment

-The NOUN from the verb “agree” is....

A. agriculture
B. arrangement
C. argument

D. agreement

- The ADJECTIVE from the noun “ department”t is....

A. dreary
B. doctoral

C. departmental
D. detrimental

- The ADIJECTIVE from the noun office is....

A. optical
B. official
C. optimal
D. orbital
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Read the following passage and answer the questions that follow :
The American Revolution

The first battle of the American Revolution occurred at Lexington, Masschusetts in 1775. The American
colonists were any one about numerous taxes issued by the British king. In 1776, the colonists issued the
Declaration of Independence, adocument written by Thomas Jefferson that outlined America’s intention to
to become a new country separate from England. England wanted to maintain control of America, and
vowed to fight the colonists. The war lasted eight long years. The Americans won many important battles
such asthos at Saratoga, Washigton and Yorktown. Many American heroes emerged such as George
Washington. Thomas Jefferson and Benjamin Franklin. Finally, in 1781, the British surrended at Yorktown,
Virginia and a new nation was born two yers later.

- The word “revolution ” in the above paragraph refers to....

A. an entertainment
B. a reevaluation

C. an _uprising

D. resolution

- The word “ separate ” in the above passage means.....

A. to be part and parcel of something or country

B. to be independent of something or of another country
C. to always be associated with something or country

D. to be dependent on something or on another country

- The “ Delaration” in the above passage is. ....

A. a document written by George Washington that outlined America’s intention to become a new village

B. a document written by Benjamin Franklin that outlined America’s intention to become a new country

C. aspeech delivery by Thomas Jefferson that refused America’s intention to become a new country

D. a document written by Thomas Jefferson that outlined America’s intention to become a new separate

from England

- The first battle of the American Revolution occurred at....

A. London
B. Lexon
C. Massachusetts
D. Mass ashes
12 Al Al o .
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- Which of the following was NOT true about the Delaration of Independence ?

A. It said that colonists wanted their own country

B. It said that England wanted a separate country

C. It said that colonists wanted to be separate from England
D. It was written by Thomas Jefferson

- Which of the following is an important battle won by the colonists ?

A. Yorktown
B. Saratoga
C. Washington
D. Minnesota

- Which of the following is NOT true ?

A. The British vowed to fight the colonists

B. The British surrendered at Saratga in 1783

C. The colonists won important battles at Yorktown and Saratoga
D. In 1783, a new nation was born

- Why did the Revolution occur ?

A. Colonists were angry about their poor living conditions

B. England attacked the colonies

C. Colonists were angry about having to pay so many taxes
D. Colonists wanted to have more lands

- The Revolutionary War lasted years

0o ® >
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-The NOUN from the adjective angry is....

A. under
B. anger
C. finger
D. hunger

13
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- What does the word issue mean in “ taxes issued by the British king” ?

A.To play or put on authoritively or publicly, as an illegal write or money

B. To send or put forth authoritively or publicly, as as alegal write or money
C. To bend or pat authoritively or enthusiastically, as a nickel or money

D. To hind or place on authoritively or manually, as alegal or dowry money

- The VERB from the noun Independence is ....

A. despond
B. dependent
C. dependence

D. depend

- Which of the following was NOT a hero that emerged from the Revolutionary War ?

A. Thomas Jefferson
B. George Washington
C. Benjamin Franklin
D. Abraham Lincoln

Ill

- The verb maintain in “ maintain control “ means ....

A. eat

B. keep
C. waste

D. fake

- What does the verb lasted mean in the above passage ?

A. the last one
B. continued
C. located

D. depend

- The verb emerged in the above paragraph means ....

A. found out
B. killed
C. enabled

D. appeared

L4
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- Choose the sentence that contains a singular subject

A. Hala and Marwan are organizing a meeting

B. The workers will arrive at 5:00 pm.

C. Ahmad will travel next week

D. Hala and Marwan will leave the meeting earlier

- Choose the sentence that contains a plural subject

A. Sally drinks her coffee early in the mornings

B. The girls have passed their first time

C. Yosef and Norman terminated then own contracts
D. lam reading an articale

- Choose the sentence that contains a compound subject

A. Noriah broke her leg

B. The engineers demanded a pay raise
C. Hala signed a new contract

D. Zyad and Marry wrote many number

- Write the following words in the correct order : ( Amazon.com Jeff starte Bezos)

A. Started Jeff Bezos Amazon.com
B. Jeff Bezos Started Amazon.com
C. Amazon Jeff Bezos Started.com

D. Com. Jeff Bezos Started Amazon

-She....my friend

A, will
B. am
C. aveh
D. is

- Choose the sentence that contains a contraction with BE

A. They are watching the TV.

B. We're professional in_marketing
C. | saw Sally’s father

D. We are professional in marketing

15
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- Choose the sentence that contains a contraction a prepositional phrase

A. He wrote four letters last night

B. They saw Sally watching the TV.

C. They met their teachers in the party
D. The manager gave a lecture

- The party will start ....6:00 O’clock

D. under

- Choose the correct reading for the number (15.700.000)

Fifty million eight hundred thousand
Fifteen million seven hundred thousand
Fifteen thousand seven hundred thousand
Fifteen hundred seven million thousand

0w >

-The NOUN from the verb accurred in the above passage is.....

A. accurs

B. accruable
C. occurrence
D. octopus

-The VERB from the noun Independence is ....

A. despond
B. dependent
C. dependence

D. depend

- “Numerous” in the above paragraph means.....

A. only one
B. many

C. money
D. less
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- The VERB from the noun “Declaration” is ....

A. declare
B. denture
C. declarative
D. declared

- The NOUN from the verb “fight” in above passage is.....

A. fought
B. fighted

C. fighter
D. fights

- The opposite of “important”is.....

A. importees
B. irrimportant
C. importance
D. unimportant

-Both ‘a‘and ‘an‘are used in front of.....

pulural nouns
verbs
singular_nouns
adjectives

o ® >

- To negate asentence with ‘BE’ ,we .....

add ‘does’ after the form of ‘BE’

add ‘not’ before the form of ‘BE’

add ‘not’ at the beginning of the sentence
. add ‘not’_after the form of ‘BE’

o0 ®p

- e describe or give information about a noun or pronounce comes at the beginning of a
sentence

A. Adverbs
B. Verbs
C. Prepositions

D. adjectives

17
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-‘At‘is used “She will meet you at 3:00 O’clock“ to .....

A. point out a specific occasion
B. point out a specific person
C. point out a specific place

D. point out a specific time

- To make questions in the present progressive, we start with .....

A. HAVE (or has) followed by the subject and then the main verb- subject

B. BE (am, is, are) followed by the subject and then the main verb- subject

C. BE (am, is, are) followed by the object and then the main verb- object

D. BE (was or were) followed by the subject and then the main verb- subject

e is anoun that does not use ‘@’ or’one’ in the word which does not have a plural form
A. A count noun

B. A noncount noun

C. Acommon noun

D. Asingular noun

- The word ‘crowded’ means .....

A. involving small number of people
B. involving on old climber for people
C. involving large number of people
D. involving large jumber for pupil

- The opposite of the word ‘different’is .....

A. pleasing
B. deserted
C. dissimilar
D. similar

-Sally ..... your teacher

o0 ®>
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- The parents ..... at home

A. be
B. was
C. is

D. are

- They don’t usually buy many.....

A. water
B. coffee
C. books
D. sand

- Read the following example and choose the sentence where the verb changed to its correct
pronouns:

‘The children play in the garden’

A. He is playing in the garden

B. We are playing in the garden
C. They are playing in the garden
D. She is playing in the garden

- Choose the correct reading for the 23,570,600 number

A. Twenty-three million five hundred seventy million six hundred

B. Twenty-three million five hundred seventy thousand six hundred
C. Twenty-three hundred five hundred seventy thousand six hundred
D. Twenty-three million five hundred seventy thousand six hundred

- Choose the correct reading for the 6,475 number

Six_thousand four hundred seventy-five
Six thousand four hundred fifty-seven
Six thousand seven hundred forty-five
Six million four thousand seventy-five

o0 wp
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-Paul..... awake till midnight every day

A. staies
B. stayed

C. stays
D. staying

-ltis ..., right now

A. snows
B. snowing
C. snow
D. snowed

- The pronoun “those” in ‘Forty people lived in a group of have were all close frindes’ refersto....

A. houses
B. group

C. forty people
D. close friends

- The plural of ‘child’is.....

childs

kids
children

childrens

o = >

- The opposite of ‘NORTH’ is.....

stout

west
._south

East

oI ® >

- The adjective from ‘tradition’ is.....

traditions

transitional

training
._traditional

oo ®p
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- The past form of swim is.....

swim

swan

swimming
. swam

OO0 wp

- Choose the group that representing the first pronouns

A. he, she, it
B. they, them

C. we,l

D. you, your

- Choose the group that represents noncount nouns

A. file, document, paper, apple

B. book, door, marker, printer

C. advice, help, music, homework
D. note, bag, boy, girl

- Choose the correct sentence

A. Rabbits are an animals

B. Rabbit are an animal

C. Rabbits are animals

D. Rabbits is animals

- His mother does not get ..... letters
A. much

B. a

C. an

D. many

ALY gail) [ aSid dae)
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